Contents lists available at ScienceDirect



Computers and Mathematics with Applications



(1)

journal homepage: www.elsevier.com/locate/camwa

# 

## Quanxin Zhang<sup>a,\*</sup>, Jurang Yan<sup>b</sup>, Li Gao<sup>a</sup>

<sup>a</sup> Department of Mathematics and Information Science, Binzhou University, Binzhou, Shandong 256603, People's Republic of China <sup>b</sup> School of Mathematical Sciences, Shanxi University, Taiyuan, Shanxi 030006, People's Republic of China

### ARTICLE INFO

Article history: Received 5 March 2009 Received in revised form 19 June 2009 Accepted 19 June 2009

*Keywords:* Oscillation Even order Nonlinear Neutral differential equation

### 1. Introduction

Neutral differential equations find numerous applications in natural science and technology. For instance, they are frequently used for the study of distributed networks containing lossless transmission lines; see Hale [1, P292]. Recently, many studies have been made on the oscillatory behavior of solutions of higher-order neutral differential equations; see, for example, [2–6] and the references cited therein.

In this paper, we consider the even-order nonlinear neutral delay differential equation

 $[x(t) + p(t)x(\tau(t))]^{(n)} + q(t)f[x(\sigma(t))] = 0, \quad n \text{ is even.}$ 

Throughout this paper, the following conditions are assumed to hold.

(H1)  $0 \le p(t) < 1$ ,  $q(t) \ge 0$  and are continuous on  $[t_0, \infty)$ ;

(H2)  $\sigma(t)$ ,  $\tau(t)$  are continuous nonnegative functions with  $\lim_{t\to\infty} \sigma(t) = \infty$ ,  $\lim_{t\to\infty} \tau(t) = \infty$ , and  $\sigma(t) \le t$ ,  $\tau(t) \le t$ ; (H3) f(x) is a continuous function on  $(-\infty, +\infty)$ , xf(x) > 0, and  $f'(x) \ge 0$  for all  $x \ne 0$ .

In what follows, we restrict our attention to solutions of (1) which exist on some half-line and are nontrivial for all large t. As is customary, a solution x(t) of (1) is said to be oscillatory if it has arbitrarily large zeros; otherwise, it is called non-oscillatory. Eq. (1) is said to be oscillatory if all its solutions are oscillatory.

We notice that, in Eq. (1), if f(x) = x, then Eq. (1) can be written as the linear equation

$$[x(t) + p(t)x(\tau(t))]^{(n)} + q(t)x(\sigma(t)) = 0, \quad n \text{ is even.}$$
(2)

In Eq. (2), if  $p(t) \equiv 0$ , then Eq. (2) can be written as the linear equation

$$x^{(n)}(t) + q(t)x(\sigma(t)) = 0, \quad n \text{ is even.}$$
(3)

\* Corresponding author. Tel.: +86 54 33 16 93 02; fax: +86 54 33 19 01 77. *E-mail address*: 3314744@163.com (Q. Zhang).

### ABSTRACT

In this paper, some sufficient conditions are obtained for the oscillation of all solutions of even-order nonlinear neutral differential equations with variable coefficients. Our results improve and generalize known results. In particular, the results are new even when n = 2. © 2009 Elsevier Ltd. All rights reserved.

<sup>\*</sup> Foundation item: The Natural Science Foundation of Shandong Province (No. Y2007A08); the Technology Research and Development Program of Education Department of Shandong Province (No. J07WH01).

<sup>0898-1221/\$ –</sup> see front matter s 2009 Elsevier Ltd. All rights reserved. doi:10.1016/j.camwa.2009.06.027

In Eq. (3), if n = 2, then Eq. (3) can be written as the second-order linear equation

$$x''(t) + q(t)x(\sigma(t)) = 0.$$
(4)

In 1986, Koplatadze [7], in 1988, Wei [8], and in 2000, Koplatadze [9], respectively, discussed oscillation criteria for Eq. (4), and obtained some sufficient conditions for Eq. (4) to be oscillatory. In 1998, Zafer [6] generalized the results of Koplatadze for Eq. (2); in 2004, Bai [10] studied oscillation criteria for Eq. (3), and obtained some sufficient conditions for Eq. (3) to be oscillatory. So far, the study of the oscillation behavior of even-order nonlinear neutral differential equations has not been sufficient. The purpose of this article is to improve and generalize the results of Koplatadze, Zafer, Wei and Bai, and show that some results in [6,10,7–9] are special cases of those in this article. In particular, the results are new even when n = 2.

The following lemma is well known; see Kiguradge [2, Lemma 2.2.1].

**Lemma 1.** Let u(t) be a positive and n-times differentiable function on an interval  $[T, \infty)$  with its n-th derivative  $u^{(n)}(t)$  nonpositive on  $[T, \infty)$  and not identically zero on any interval of the form  $[T', \infty)$ ,  $T' \ge T$ . Then there exists an integer l,  $0 \le l \le n - 1$ , with n + l odd, such that, for some large  $T^* \ge T'$ ,

$$(-1)^{l+j} u^{(j)} > 0 \quad on \ [T^*, \infty) (j = l, l+1, \dots, n-1) u^{(i)} > 0 \quad on \ [T^*, \infty) (i = 1, 2, \dots, l-1) \ when \ l > 1.$$

The next lemma is given in [2, P169].

**Lemma 2.** Let u(t) be as in Lemma 1. If  $\lim_{t\to\infty} u(t) \neq 0$ , then, for every  $\lambda$ ,  $0 < \lambda < 1$ , there is  $T_{\lambda} \ge t_0$  such that, for all  $t \ge T_{\lambda}$ ,

$$u(t) \ge \frac{\lambda}{(n-1)!} t^{n-1} u^{(n-1)}(t).$$

#### 2. Main results

First, we establish a comparison theorem.

**Theorem 1.** Let  $|f(x)| \ge |x|$ , for all  $|x| \ge x_0 > 0$ . Assume that there exists a constant  $0 < \lambda_0 < 1$ , such that the first-order delay differential equation

$$z'(t) + \frac{\lambda_0}{(n-1)!} q(t) \sigma^{n-1}(t) [1 - p(\sigma(t))] z(\sigma(t)) = 0$$
(5)

is oscillatory. Then (1) is oscillatory.

. . . ...

**Proof.** Let x(t) be an eventually positive solution of (1), say x(t) > 0 and  $x(\sigma(t)) > 0$ , when  $t \ge t_0$ . Let

$$y(t) = x(t) + p(t)x(\tau(t)).$$
 (6)

Then, from (H1), (H2) and (H3), there exists  $t_1 \ge t_0$  such that

y(t) > 0 and  $y^{(n)}(t) \le 0$  for all  $t \ge t_1$ .

By Lemma 1, there exists  $t_2 \ge t_1$  and an odd integer  $l \le n-1$  such that, for some large  $t_3 \ge t_2$ ,

$$(-1)^{l+j} y^{(j)}(t) > 0, \quad j = l, l+1, \dots, n-1, t \ge t_3,$$
  
$$y^{(i)}(t) > 0, \quad i = 0, 1, \dots, l-1, t > t_3.$$
(7)

Thus, from (7), y'(t) > 0 and  $y^{(n-1)}(t) > 0$  for  $t \ge t_3$ . Hence,  $\lim_{t\to\infty} y(t) \ne 0$ . By Lemma 2, for every  $\lambda$ ,  $0 < \lambda < 1$ , there exists  $T_{\lambda}$  such that, for all  $t \ge T_{\lambda}$ ,

$$y(t) \ge \frac{\lambda}{(n-1)!} t^{n-1} y^{(n-1)}(t).$$
(8)

From (6),  $x(\sigma(t)) = y(\sigma(t)) - p(\sigma(t))x(\tau(\sigma(t)))$ , and consequently, we have

 $y^{(n)}(t) + q(t)f[y(\sigma(t)) - p(\sigma(t))x(\tau(\sigma(t)))] = 0, \text{ for all large } t.$ 

Noting that  $|f(x)| \ge |x|$ , for all  $|x| \ge x_0 > 0$ , we obtain

 $y^{(n)}(t) + q(t)[y(\sigma(t)) - p(\sigma(t))x(\tau(\sigma(t)))] \le 0$ , for all large *t*.

Noting that y(t) > x(t) and y'(t) > 0, we obtain

 $y^{(n)}(t) + q(t)[1 - p(\sigma(t))]y(\sigma(t)) \le 0$ , for all sufficiently large *t*.

Now, using (8), we have that, for every  $0 < \lambda < 1$ ,

$$y^{(n)}(t) + \frac{\lambda}{(n-1)!} q(t) \sigma^{n-1}(t) [1 - p(\sigma(t))] y^{(n-1)}(\sigma(t)) \le 0, \quad \text{for all large } t.$$

Let  $u(t) = y^{(n-1)}(t)$ . Thus, for *t* large enough, u(t) satisfies

$$u'(t) + \frac{\lambda}{(n-1)!}q(t)\sigma^{n-1}(t)[1-p(\sigma(t))]u(\sigma(t)) \le 0, \quad \text{for every } 0 < \lambda < 1.$$
(\*)

Since the differential inequality (\*) has the nonoscillatory solution u(t) by a well-known result (see Corollary 3.2.2 in [4], P67), the differential equation

$$z'(t) + \frac{\lambda}{(n-1)!} q(t) \sigma^{n-1}(t) [1 - p(\sigma(t))] z(\sigma(t)) = 0,$$

also has an eventually positive solution for every  $0 < \lambda < 1$ . This contradicts the fact that (5) is oscillatory. In the case that x(t) is an eventually negative solution, -x(t) will be an eventually positive solution. The proof of Theorem 1 is complete.  $\Box$ 

It is well known (see [3,4]) that if either

$$\liminf_{t \to \infty} \int_{\sigma(t)}^{t} q(s) \mathrm{d}s > \frac{1}{e}$$
(9)

or  $\sigma(t)$  is nondecreasing and

$$\limsup_{t \to \infty} \int_{\sigma(t)}^{t} q(s) \mathrm{d}s > 1, \tag{10}$$

then

 $x'(t) + q(t)x(\sigma(t)) = 0 \tag{11}$ 

is oscillatory.

Thus, from Theorem 1, we can obtain the following result.

**Corollary 1.** Eq. (1) is oscillatory if either

$$\liminf_{t \to \infty} \int_{\sigma(t)}^{t} q(s) \sigma^{n-1}(s) [1 - p(\sigma(s))] ds > \frac{(n-1)!}{e}$$
(12)

or  $\sigma(t)$  is nondecreasing and

$$\limsup_{t \to \infty} \int_{\sigma(t)}^{t} q(s) \sigma^{n-1}(s) [1 - p(\sigma(s))] ds > (n-1)!.$$
(13)

**Proof.** From (12) and (13), one can choose a positive constant  $0 < \lambda_0 < 1$  such that

$$\liminf_{t\to\infty}\lambda_0\int_{\sigma(t)}^t q(s)\sigma^{n-1}(s)[1-p(\sigma(s))]\mathrm{d}s > \frac{(n-1)!}{e}$$

or

$$\limsup_{t\to\infty}\lambda_0\int_{\sigma(t)}^t q(s)\sigma^{n-1}(s)[1-p(\sigma(s))]\mathrm{d}s>(n-1)!.$$

By Theorem 1, and in view of (9) and (10), the conclusion of Corollary 1 is obtained. The proof of Corollary 1 is complete.

**Remark 1.** In [6], the author obtains sufficient conditions for (2) to be oscillatory, namely, if

$$\liminf_{t \to \infty} \int_{\sigma(t)}^{t} q(s) \sigma^{n-1}(s) [1 - p(\sigma(s))] ds > \frac{(n-1)2^{(n-1)(n-2)}}{e}$$
(14)

or

$$\limsup_{t \to \infty} \int_{\sigma(t)}^{t} q(s) \sigma^{n-1}(s) [1 - p(\sigma(s))] ds > (n-1)2^{(n-1)(n-2)}.$$
(15)

In the case of (15),  $\sigma(t)$  is nondecreasing. Since  $(n-1)! < (n-1)2^{(n-1)(n-2)}$  when  $n \ge 3$ , it follows that Corollary 1 improves and generalizes Theorem 2 in [6].

**Remark 2.** Recently, the following sufficient conditions for (3) to be oscillatory were obtained (see Theorems 1 and 2 in [10]): either

$$\liminf_{t\to\infty}\int_{\sigma(t)}^t q(s)\sigma^{n-1}(s)\mathrm{d}s > \frac{1}{e}2^{(n-1)^2}(n-1)!$$

or  $\sigma(t)$  is nondecreasing and

$$\limsup_{t\to\infty}\int_{\sigma(t)}^t q(s)\sigma^{n-1}(s)\mathrm{d}s > 2^{(n-1)^2}(n-1)!.$$

Clearly, Corollary 1 improves and generalizes the above results.

**Remark 3.** When  $p(t) \equiv 0$  and n = 2, Corollary 1 reduces to being if

$$\liminf_{t\to\infty}\int_{\sigma(t)}^t q(s)\sigma(s)\mathrm{d}s > \frac{1}{e},\tag{16}$$

or  $\sigma(t)$  is nondecreasing and

.

$$\limsup_{t \to \infty} \int_{\sigma(t)}^{t} q(s)\sigma(s) \mathrm{d}s > 1, \tag{17}$$

then Eq. (4) is oscillatory. These results have been established in [7,8]; also see [9].

#### 3. Further results

Let  $\delta(t) = \max_{t_0 \le s \le t} \sigma(s)$  and  $\delta^{-1}(t) = \sup\{s \ge t_0 : \delta(s) = t\}, \delta^{-(k+1)}(t) = \sup\{s \ge \delta^{-k}(t_0) : \delta^{-k}(s) = t\}$ . Set  $Q(t) = \frac{1}{(n-1)!}q(t)\sigma^{n-1}(t)[1-p(\sigma(t))].$ 

Define a sequence  $\{Q_k(t)\}$  of functions as follows:

$$Q_{1}(t) = \int_{\delta(t)}^{t} Q(s) ds, \quad t \ge \delta^{-1}(t_{0}),$$

$$Q_{k+1}(t) = \int_{\delta(t)}^{t} Q(s) Q_{k}(s) ds, \quad t \ge \delta^{-(k+1)}(t_{0}), k = 1, 2, \dots$$
(18)

Theorem 2. Assume that there exists a positive integer K such that

$$\liminf_{t\to\infty} Q_K(t) > \frac{1}{e^K}.$$
(19)

Then (1) is oscillatory.

**Proof.** Let  $\liminf_{t\to\infty} Q_K(t) > \alpha > 0$ . In view of (19), we can choose a constant  $0 < \lambda_0 < 1$  such that  $\alpha \lambda_0^K > \frac{1}{a^K}$ ; that is,

$$\liminf_{t\to\infty}\lambda_0^K Q_K(t) > \frac{1}{e^K}.$$
(20)

Suppose, for the sake of contradiction, that (1) has an eventually positive solution x(t). Let  $y(t) = x(t) + p(t)x(\tau(t))$ . We can proceed as in the proof of Theorem 1 and show that for  $\lambda_0$  the equation

$$z'(t) + \frac{\lambda_0}{(n-1)!} q(t) \sigma^{n-1}(t) [1 - p(\sigma(t))] z(\sigma(t)) = 0$$
(21)

has an eventually positive solution. On the other hand, by [11, Theorem 1] and (20), all the solutions of (21) are oscillatory. This is a contradiction. The proof of Theorem 2 is complete.  $\Box$ 

**Remark 4.** Theorem 2 is a new result, which improves and generalizes Theorem 2 in [6]; even for second-order neutral differential equations, Theorem 2 still holds. In particular, when  $p(t) \equiv 0$  and n = 2, for the delay differential equation (4), we have the following result.

Corollary 2. Assume that there exists a K such that

$$\liminf_{t \to \infty} Q_K(t) > \frac{1}{e^K}.$$
(22)

Then the Eq. (4) is oscillatory.

**Remark 5.** Corollary 2 improves and generalizes the relative results from [7,8]. When K = 1, (22) reduces to (16).

Example. Consider the equation

$$\left[x(t) + \frac{1}{2}x(t-\pi)\right]^{(n)} + \frac{(n-1)!(1+\cos t)}{e(t-\pi)^{n-1}}x(t-\pi)\ln[e+x^2(t-\pi)] = 0, \quad t \ge t_0 > \pi, n \text{ is even.}$$
(23)

From (18), we have

$$Q(t) = \frac{1}{2e}(1 + \cos t), t \ge t_0$$
 and  $\liminf_{t \to \infty} \int_{t-\pi}^t Q(s) ds = \frac{1}{2e}(\pi - 2) < \frac{1}{e}$ 

It is easy to show that (see [12])

$$\begin{aligned} Q_1(t) &= \frac{1}{2e}(\pi + 2\sin t), \quad t \ge t_0, \\ Q_2(t) &= \frac{1}{4e^2}(\pi^2 + 2\pi\sin t - 4\cos t), \quad t \ge 2\pi, \\ Q_3(t) &= \frac{1}{8e^3}\left[\pi^3 - 2\pi + (2\pi^2 - 8)\sin t - 4\pi\cos t\right], \quad t \ge 3\pi, \\ Q_4(t) &= \frac{1}{16e^4}\left[\pi^4 - 4\pi^2 + 2(\pi^3 - 6\pi)\sin t - 4(\pi^2 - 4)\cos t\right], \quad t \ge 4\pi. \\ \liminf_{t \to \infty} Q_k(t) &< \frac{1}{e^k}, \quad k = 2, 3. \text{ But } \liminf_{t \to \infty} Q_4(t) > \frac{1}{e^4}. \end{aligned}$$

Thus, by Theorem 2, (23) is oscillatory. The known results in the literature are not applicable to (23).

#### Acknowledgements

The authors are grateful to the reviewers for their comments and suggestions.

#### References

- [1] J.K. Hale, Theory of Functional Differential Equations, Springer-Verlag, New York, 1977.
- [2] R.P. Agarwal, S.R. Grace, D. O'Regan, Oscillation Theory for Difference and Differential Equations, Kluwer Academic, Dordrecht, 2000.
- [3] L.H. Erbe, Q. Kong, B.G. Zhang, Oscillation Theory for Functional Differential Equations, Dekker, New York, 1995.
- [4] I. Györi, G. Ladas, Oscillation Theory of Delay Differential Equations with Applications, Clarendon, Oxford, 1991.
- [5] T. Canadan, R.D. Dahiya, Oscillation behavior of n-th order neutral differential equations with continuous delay, J. Math. Anal. Appl. 290 (2004) 105-112.
- [6] A. Zafer, Oscillation criteria for even order neutral differential equations, Appl. Math. Lett. 11 (1998) 21–25.
- [7] R. Koplatadze, Oscillation criteria of solutions of second order linear delay differential inequalities with a delayed argument, Tr. Inst. Prikl. Mat. I. N. Vekua. 17 (1986) 104–120 (in Russian).
- [8] J.J. Wei, Oscillation of second order delay differential equation, Ann. Differential Equations 4 (1988) 437–478.
- [9] R. Koplatadze, G. Kvinikadze, I.P. Stavroulakis, Oscillation of second order linear delay differential equations, Funct. Differential Equations 7 (2000) 121–145.
- [10] S. Bai, The oscillation of the solutions of higher order functional differential equation, Chinese Quart. J. Math. 19 (2004) 407-411.
- [11] B. Li, Multiple integral average conditions for oscillation of delay differential equations, J. Math. Anal. Appl. 219 (1998) 165–178.
- [12] X. Tang, J. Shen, Oscillation of delay differential equation with variable coefficients, J. Math. Anal. Appl. 217 (1998) 32-42.